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QUESTION 1

To which object can you settle an internal order using cost elements with cost element category 21 (internal
settlement)? Note: There are 3 correct answers to this question.

A. Sales order item

B. WBS element

C. General ledger account
D. Network

E. Asset

Correct Answer: ABD

QUESTION 2

You are setting up a direct internal activity allocation in SAP S4/HANA. What is valid receivers for the activity? Note:
There are 3 correct answers to this question.

A. Profit center

B. WBS element

C. Sales order item

D. Internal order

E. General ledger account

Correct Answer: BCD

QUESTION 3

You have implemented Product Cost by Sales Oder in conjunction with revenue-based results analysis in your
organization.

For a particular sales order item, you have the following:

Plan revenue = 3000; Plan costs = 2000

Actual revenue = 1200; Actual costs = 1000

What data does the system calculate during results analysis?
A. Revenue = 1200; Cost of sales = 800; Reserve = 200

B. Revenue = 1200; Cost of sales = 1000; Reserve = 200
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C. Revenue = 1200; Cost of sales = 1000; WIP = 200
D. Revenue = 1200; Cost of sales = 800; WIP = 200

Correct Answer: D

QUESTION 4

Which field can you select for both reporting in costing based and account-based Profitability Analysis?
A. Value in Controlling Area Currency

B. Version

C. Record type

D. Cost element

Correct Answer: B

QUESTION 5

What are some of the characteristics of planning for internal orders? Note: There are 2 correct answers to this question.
A. You can plan multiple versions.

B. You can enter costs and revenues.

C. You can define tolerance limits for plan overspend.

D. Availability control can check against plan values.

Correct Answer: AB
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